
SAP ABAP table IMP_PARAMETERS_1 {IMP: Trigger (Runtime)}

IMP_PARAMETERS_1

CLIENT [CLNT (3)]

APPLCLASS [CHAR (6)]

RUN_ID [CHAR (32)]

COUNTER [NUMC (10)]

PNAME [CHAR (30)]

IMP_TRIGGERS

CLIENT [CLNT (3)]

APPLCLASS [CHAR (6)]

RUN_ID [CHAR (32)]

COUNTER [NUMC (10)]

 IMP_PARAMETERS_1-COUNTER = IMP_TRIGGERS-COUNTER 0..N

0..N

IMP_WORKSETS

CLIENT [CLNT (3)]

APPLCLASS [CHAR (6)]

RUN_ID [CHAR (32)]

 IMP_PARAMETERS_1-RUN_ID = IMP_WORKSETS-RUN_ID 
0..N

0..N

T000

MANDT [CLNT (3)]

 IMP_PARAMETERS_1-CLIENT = T000-MANDT 

0..N

0..N

TIMP000

APPLCLASS [CHAR (6)]

 IMP_PARAMETERS_1-APPLCLASS = TIMP000-APPLCLASS 

0..N

0..N


